



On Some Mappings on Random Banach $*$ -Algebras with Derivations

Alireza Janfada¹ , Ahmad Khoshab¹

1. Department of Mathematics, University of Birjand, Birjand, Iran.

Email: ajanfada@birjand.ac.ir (Corresponding Author),
ahmad_khoshab@yahoo.com

Article Info

ABSTRACT

Article history:

Received: 21 January 2025

Received in revised form:

19 April 2025

Accepted: 28 April 2025

Published Online:

25 June 2025

Keywords:

Random Banach $*$ -algebras,

Additive mappings,

Derivations,

Semiprime algebras

2020 Mathematics Subject Classification:

39B82, 46L57, 39B72, 16N60

This paper investigates the stability of certain linear mappings on random Banach $*$ -algebras with derivations. We establish several theorems concerning additive mappings and derivations in these spaces, extending classical results to the probabilistic setting. Our main contributions include proving the existence and uniqueness of additive mappings satisfying specific functional inequalities and demonstrating conditions under which such mappings become derivations.

Cite this article: Janfada, A., & Khoshab, A. (2025). On Some Mappings on Random Banach $*$ -Algebras with Derivations. *Measure Algebras and Applications*, 3(1), 66–72.
<http://doi.org/10.22091/maa.2026.14781.1045>



©The Author(s).

Doi:<http://doi.org/10.22091/maa.2026.14781.1045>

Publisher: University of Qom

1. Introduction

The investigation of derivations in random Banach algebras represents an emerging and significant area within functional analysis and operator algebras. This field primarily focuses on the stability of random functional equations under conditions of uncertainty. The foundational concept of stability for functional equations was first introduced by Ulam in 1940 [15]. Subsequently, Hyers provided a fundamental result by establishing the stability of the additive functional equation in Banach spaces [7]. This work was later generalized by Rassias, who introduced a more flexible framework for functional approximations under variable bounds [11].

During the early 21st century, stability theory was extended to the study of approximate derivations in Banach algebras. Researchers examined whether mappings approximately satisfying the derivation condition $D(xy) \approx D(x)y + xD(y)$ could be approximated by exact derivations [5, 6, 10, 13, 14]. Concurrently, random Banach algebras were developed as probabilistic extensions of classical Banach algebras, providing a robust framework for modeling stochastic systems and phenomena involving uncertainty. These structures have since played a crucial role in stochastic analysis and probability theory.

The intersection of these two research directions has led to growing interest in random derivations within random Banach algebras. Recent studies have explored whether Hyers-Ulam stability properties hold in these probabilistic settings and whether approximate random derivations can be closely approximated by exact ones [1, 2, 9]. Contemporary applications of these results span diverse areas including stochastic analysis, quantum mechanics, and uncertainty quantification.

In what follows, we adopt the standard terminology, notation, and conventions of random normed space theory as presented in [8, 12].

2. Preliminaries and Basic Definitions

This section introduces the fundamental concepts and definitions required for our subsequent analysis. We begin with the basic structures of random normed spaces and gradually build up to random Banach $*$ -algebras.

Definition 2.1 (Distribution Functions). *Let Δ^+ denote the space of distribution functions, defined as:*

$$\begin{aligned} \Delta^+ := \{F : \mathbb{R} \cup \{-\infty, \infty\} \rightarrow [0, 1] : & F \text{ is left-continuous and non-decreasing on } \mathbb{R}, \\ & F(0) = 0, \text{ and } F(+\infty) = 1\}. \end{aligned}$$

The subset $D^+ \subseteq \Delta^+$ is given by:

$$D^+ = \{F \in \Delta^+ : \ell^- F(+\infty) = 1\},$$

where $\ell^- f(x)$ denotes the left limit of function f at point x .

The space Δ^+ is partially ordered by pointwise comparison: $F \leq G$ if and only if $F(t) \leq G(t)$ for all $t \in \mathbb{R}$. The maximal element in this ordering is the distribution function:

$$\varepsilon_0(t) = \begin{cases} 0, & t \leq 0, \\ 1, & t > 0. \end{cases}$$

Definition 2.2 (Triangular Norms). *A continuous triangular norm (briefly, a t-norm) is a function $T : [0, 1] \times [0, 1] \rightarrow [0, 1]$ satisfying:*

- (1) *Commutativity and associativity: $T(a, b) = T(b, a)$ and $T(a, T(b, c)) = T(T(a, b), c)$;*

- (2) *Continuity: T is continuous as a two-variable function;*
- (3) *Boundary condition: $T(a, 1) = a$ for all $a \in [0, 1]$;*
- (4) *Monotonicity: $T(a, b) \leq T(c, d)$ whenever $a \leq c$ and $b \leq d$.*

Common examples of continuous t -norms include:

- The product t -norm: $T_p(a, b) = ab$.
- The minimum t -norm: $T_M(a, b) = \min(a, b)$.
- The Łukasiewicz t -norm: $T_L(a, b) = \max(a + b - 1, 0)$.

For a t -norm T and a sequence $\{x_n\}$ in $[0, 1]$, we define recursively:

$$T_{i=1}^n x_i = \begin{cases} x_1, & n = 1, \\ T(T_{i=1}^{n-1} x_i, x_n), & n \geq 2, \end{cases}$$

and denote $T_{i=n}^\infty x_i = T_{i=1}^\infty x_{n+i}$.

Definition 2.3 (Random Normed Spaces). *A random normed space (RN-space) is a triple (X, Λ, T) , where:*

- X is a vector space over \mathbb{R} or \mathbb{C} ;
- T is a continuous t -norm;
- $\Lambda : X \rightarrow D^+$ (with Λ_x denoting $\Lambda(x)$) satisfies:
 - (RN1) $\Lambda_x(t) = \varepsilon_0(t)$ for all $t > 0$ if and only if $x = 0$;
 - (RN2) $\Lambda_{\alpha x}(t) = \Lambda_x\left(\frac{t}{|\alpha|}\right)$ for all $x \in X, \alpha \neq 0$;
 - (RN3) $\Lambda_{x+y}(t + s) \geq T(\Lambda_x(t), \Lambda_y(s))$ for all $x, y \in X, t, s \geq 0$.

Definition 2.4 (Convergence and Completeness in RN-spaces). *Let (X, Λ, T) be an RN-space.*

- (1) *A sequence $\{x_n\}$ in X converges to $x \in X$ if for every $\varepsilon > 0$ and $\lambda > 0$, there exists $N \in \mathbb{N}$ such that $\Lambda_{x_n-x}(\varepsilon) > 1 - \lambda$ for all $n \geq N$.*
- (2) *A sequence $\{x_n\}$ in X is Cauchy if for every $\varepsilon > 0$ and $\lambda > 0$, there exists $N \in \mathbb{N}$ such that $\Lambda_{x_n-x_m}(\varepsilon) > 1 - \lambda$ for all $n, m \geq N, n \geq m$.*
- (3) *An RN-space is complete if every Cauchy sequence converges. A complete RN-space is called a random Banach space.*

Theorem 2.5 ([12]). *If (X, Λ, T) is an RN-space and $\{x_n\}$ converges to x , then $\lim_{n \rightarrow \infty} \Lambda_{x_n}(t) = \Lambda_x(t)$ almost everywhere.*

Definition 2.6 (Random Normed Algebras). *A random normed algebra is a random normed space (X, Λ, T) with an additional algebraic structure satisfying:*

$$\Lambda_{xy}(ts) = \Lambda_x(t)\Lambda_y(s) \quad \text{for all } x, y \in X, t, s > 0.$$

A complete random normed algebra is called a random Banach algebra.

Definition 2.7 (Random Banach \ast -Algebras). *A random Banach \ast -algebra is a random Banach algebra (X, Λ, T) equipped with an involution $\ast : X \rightarrow X$ satisfying for all $x, y \in X$ and scalars a, b :*

- $x^{\ast\ast} = x$;
- $(ax + by)^\ast = \bar{a}x^\ast + \bar{b}y^\ast$;
- $(xy)^\ast = y^\ast x^\ast$.

Definition 2.8 (Derivations on Random Banach \ast -Algebras). *Let X be a random Banach \ast -algebra. A derivation on X is a mapping $\mu : X \rightarrow X$ satisfying:*

$$\mu(xy) = x\mu(y) + \mu(x)y \quad \text{for all } x, y \in X.$$

68

3. Main Results

In this section, we present our main results concerning additive mappings and derivations on random Banach \ast -algebras. Throughout, we denote by $T_\varepsilon := \{e^{i\theta} : 0 \leq \theta \leq \varepsilon\}$ and by e the unit element when it exists.

Theorem 3.1. *Let (X, Λ, T) be a complex random Banach \ast -algebra and let $\xi : X^2 \rightarrow D^+$ (with $\xi_{x,y}$ denoting $\xi(x, y)$) be a mapping satisfying:*

$$(3.1) \quad \lim_{n \rightarrow \infty} \xi_{2^n x, 2^n y}(2^n t) = 1,$$

$$(3.2) \quad \lim_{n \rightarrow \infty} T_{\ell=1}^\infty \left(\xi_{2^{n+\ell} x, 2^{n+\ell} y} (2^{n+\ell} t) \right) = 1$$

for all $x, y \in X$ and $t > 0$. Suppose $f : X \rightarrow X$ is a function satisfying the following inequalities for all $x, y \in X$ and $t > 0$:

$$(3.3) \quad \Lambda_{f(x+y)-f(x)-f(y)}(t) \geq \xi_{x,y}(t),$$

$$(3.4) \quad \Lambda_{f(xy^*+yx^*)-f(x)y^*-xf(y^*)-f(y)x^*-yf(x^*)}(t) \geq \xi_{x,y}(t).$$

Then there exists a unique additive mapping $F : X \rightarrow X$ such that:

$$(3.5) \quad F(xy^* + yx^*) = F(x)y^* + xF(y^*) + F(y)x^* + yF(x^*),$$

$$(3.6) \quad \Lambda_{f(x)-F(x)}(t) \geq T_{\ell=1}^\infty \left(\xi_{2^\ell x, 2^\ell x} (2^\ell t) \right),$$

$$(3.7) \quad x[F(y) - f(y)] = 0 \quad \text{for all } x, y \in X.$$

Proof. We divide the proof into several logical steps.

Step 1: Construction of the additive mapping. Setting $y = x$ in (3.3) yields:

$$\Lambda_{f(2x)-2f(x)}(t) \geq \xi_{x,x}(t) \quad \text{for all } x \in X, t > 0,$$

which implies:

$$\Lambda_{\frac{f(2x)}{2}-f(x)}(t) \geq \xi_{x,x}(2t).$$

Iterating this process, we obtain for any positive integer n :

$$\Lambda_{\frac{f(2^{n+1}x)}{2^{n+1}}-\frac{f(2^n x)}{2^n}}(t) \geq \xi_{2^n x, 2^n x}(2^{n+1}t).$$

By induction, we derive the following key inequality:

$$(3.8) \quad \Lambda_{\frac{f(2^n x)}{2^n}-f(x)}(t) \geq T_{\ell=1}^n \left(\xi_{2^\ell x, 2^\ell x} (2^\ell t) \right) \quad \text{for all } x \in X, t > 0.$$

Replacing x by $2^m x$ in (3.8) gives:

$$\Lambda_{\frac{f(2^{n+m} x)}{2^{n+m}}-\frac{f(2^m x)}{2^m}}(t) \geq T_{\ell=1}^n \left(\xi_{2^{\ell+m} x, 2^{\ell+m} x} (2^{\ell+m} t) \right).$$

From condition (3.2), the right-hand side tends to 1 as $n, m \rightarrow \infty$. Therefore, $\left\{ \frac{f(2^n x)}{2^n} \right\}_{n=1}^\infty$ is a Cauchy sequence in the complete space X , hence convergent. Define:

$$F(x) := \lim_{n \rightarrow \infty} \frac{f(2^n x)}{2^n} \quad \text{for all } x \in X.$$

Step 2: Additivity of F . Replacing x, y by $2^n x, 2^n y$ in (3.3) and dividing by 2^n yields:

$$\Lambda_{\frac{f(2^n(x+y))}{2^n}-\frac{f(2^n x)}{2^n}-\frac{f(2^n y)}{2^n}}(t) \geq \xi_{2^n x, 2^n y}(2^n t).$$

Taking the limit as $n \rightarrow \infty$ and using (3.1) gives $F(x+y) = F(x) + F(y)$.

Step 3: Proof of approximation inequality (3.6). Taking the limit as $n \rightarrow \infty$ in (3.8) yields (3.6).

Step 4: Uniqueness of F . Suppose F' is another additive mapping satisfying (3.6). Then for any $x \in X$ and $t > 0$:

$$\begin{aligned}\Lambda_{F(x)-F'(x)}(t) &= \Lambda_{F(2^n x)-F'(2^n x)}(2^n t) \\ &\geq T(\Lambda_{F(2^n x)-f(2^n x)}(2^{n-1} t), \Lambda_{f(2^n x)-F'(2^n x)}(2^{n-1} t)) \\ &\geq T\left(T_{\ell=1}^{\infty}\left(\xi_{2^{\ell+n} x, 2^{\ell+n} x}\left(2^{n+\ell-1} t\right)\right), T_{\ell=1}^{\infty}\left(\xi_{2^{\ell+n} x, 2^{\ell+n} x}\left(2^{n+\ell-1} t\right)\right)\right).\end{aligned}$$

Letting $n \rightarrow \infty$ gives $\Lambda_{F(x)-F'(x)}(t) = 1$ for all $t > 0$, hence $F = F'$.

Step 5: Proof of property (3.5). Replacing x by $2^n x$ in (3.4) gives:

$$\Lambda_{f(2^n x y^* + 2^n y x^*) - f(2^n x) y^* - 2^n x f(y^*) - 2^n f(y) x^* - y f(2^n x^*)}(t) \geq \xi_{2^n x, y}(t).$$

Dividing by 2^n and taking $n \rightarrow \infty$ using (3.1) and (3) yields:

$$(\dagger) \quad F(x y^* + y x^*) = F(x) y^* - x f(y^*) - f(y) x^* - y F(x^*).$$

Applying (†) to different arrangements gives:

$$\begin{aligned}2^n F(x) y^* + 2^n x f(y^*) + 2^n f(y) x^* + 2^n y F(x^*) &= F(2^n x \cdot y^* + y \cdot 2^n x^*) \\ &= F(x \cdot 2^n y^* + 2^n y \cdot x^*) \\ &= 2^n F(x) y^* + x f(2^n y^*) + f(2^n y) x^* + 2^n y F(x^*).\end{aligned}$$

Thus we obtain:

$$(\ddagger) \quad x F(y^*) + F(y) x^* = \lim_{n \rightarrow \infty} \left[x \frac{f(2^n y^*)}{2^n} + \frac{f(2^n y)}{2^n} x^* \right] = x f(y^*) + f(y) x^*.$$

Combining (†) and (‡) yields (3.5).

Step 6: Proof of annihilation property (3.7). Multiplying (‡) by i gives:

$$i x F(y^*) + i F(y) x^* = i x f(y^*) + i f(y) x^*.$$

Replacing x by $i x$ in (‡) yields:

$$i x F(y^*) - i F(y) x^* = i x f(y^*) - i f(y) x^*.$$

Subtracting these two equations gives $2 i F(y) x^* = 2 i f(y) x^*$, which simplifies to $x^* [F(y) - f(y)] = 0$ for all $x, y \in X$. Since the involution is bijective, this is equivalent to (3.7). \square

Theorem 3.2. Let (X, Λ, T) be a unital complex random Banach $*$ -algebra and let $\xi : X^2 \rightarrow D^+$ satisfy the conditions of Theorem 3.1. Suppose $f : X \rightarrow X$ is a mapping such that for all $x, y \in X$, $\lambda \in T_\varepsilon$, and $t > 0$:

$$\Lambda_{f(\lambda x + \lambda y) - \lambda f(x) - \lambda f(y)}(t) \geq \xi_{x, y}(t),$$

and inequality (3.4) holds. Then f is a derivation on X .

Proof. Taking $\lambda = 1$ in (3.2) shows that f satisfies the conditions of Theorem 3.1. Hence, there exists a unique additive mapping $F : X \rightarrow X$ satisfying (3.5), (3.6), and (3.7).

Linearity of F . Setting $y = x$ in (3.2) gives:

$$\Lambda_{f(2\lambda x) - 2\lambda f(x)}(t) \geq \xi_{x, x}(t) \quad \text{for all } \lambda \in T_\varepsilon.$$

Replacing x by $2^n x$ and dividing by 2^{n+1} yields:

$$\Lambda_{\frac{f(2^{n+1} \lambda x)}{2^{n+1}} - \frac{\lambda f(2^n x)}{2^n}}(t) \geq \xi_{2^n x, 2^n x}(2^{n+1} t).$$

Taking $n \rightarrow \infty$ and using (3) gives $F(\lambda x) = \lambda F(x)$ for all $\lambda \in T_\varepsilon$.

Identification of f and F . Since X is unital, setting $x = e$ in (3.7) gives $F(y) = f(y)$ for all $y \in X$. Thus $f = F$, and in particular, f satisfies (3.5):

$$(\star) \quad f(xy^* + yx^*) = f(x)y^* + xf(y^*) + f(y)x^* + yf(x^*).$$

Derivation property. Replacing y by iy in (\star) yields:

$$-if(xy^*) + if(yx^*) = -if(x)y^* - if(y)x^* + if(y)x^* + iyf(x^*).$$

Multiplying by i gives:

$$(\star\star) \quad f(xy^*) - f(yx^*) = f(x)y^* + xf(y^*) - f(y)x^* - yf(x^*).$$

Adding (\star) and $(\star\star)$ and dividing by 2 yields:

$$f(xy^*) = f(x)y^* + xf(y^*).$$

Finally, setting $y = y^*$ gives the derivation property:

$$f(xy) = f(x)y + xf(y) \quad \text{for all } x, y \in X.$$

□

Corollary 3.3. *Let (X, Λ, T) be a semiprime unital complex random Banach \ast -algebra and let $\xi : X^2 \rightarrow D^+$ satisfy the conditions of Theorem 3.1. If $f : X \rightarrow X$ satisfies inequalities (3.3) and (3.4), then f is a derivation on X .*

Proof. Since X is unital, Theorem 3.1 applies, and setting $x = e$ in (3.7) gives $f = F$. In particular, f satisfies (\star) from the previous proof.

Define for each $x \in X$:

$$D(x) := f(x^2) - f(x)x - xf(x).$$

Setting $y = x^*$ in (\star) yields:

$$(1) \quad D(x) + D(x^*) = 0 \quad \text{for all } x \in X.$$

Setting $y = xy^* + yx^*$ in (\star) and simplifying gives:

$$f(x(y + y^*)x^*) = -D(x)y^* - yD(x^*) + f(x)(y + y^*)x^* + x(y + y^*)f(x^*) + xf(y + y^*)x^*.$$

Taking $y = y - y^*$ in this equation yields:

$$(2) \quad D(x)(y - y^*) - (y - y^*)D(x^*) = 0 \quad \text{for all } x, y \in X.$$

Multiplying (2) by i gives one relation, while replacing y by iy in (2) gives another. Combining these yields:

$$(3) \quad D(x)y = yD(x^*) \quad \text{for all } x, y \in X.$$

Setting $y = e$ in (3) gives $D(x) = D(x^*)$. Combining with (1) gives $D(x) = 0$ for all $x \in X$. Therefore:

$$f(x^2) = f(x)x + xf(x) \quad \text{for all } x \in X,$$

so f is a Jordan derivation. Since X is semiprime, every Jordan derivation is a derivation, completing the proof. □

References

- [1] Alshybani, S., Vaezpour, S.M., & Mahmood, S.J. (2019). Generalized Hyers-Ulam stability of mixed type additive-quadratic functional equation of random homomorphisms in random normed algebras. *J. Phys. Conf. Ser.*, 1294, 1–9, DOI: <https://doi.org/10.1088/1742-6596/1294/3/032004>.
- [2] Alshybani, S., Vaezpour, S.M., & Saadati, R. (2017). Generalized Hyers-Ulam stability of mixed type additive-quadratic functional equation in random normed spaces. *J. Math. Anal.*, 8(5), 12–26.
- [3] Bae, J.H., & Chang, L.S. (2018). Some additive mappings on Banach $*$ -algebras with derivations. *J. Nonlinear Sci. Appl.*, 11, 335–341. DOI: <https://doi.org/10.22436/jnsa.011.03.02>.
- [4] Baktash, E., Cho, Y.J., Jalili, M., Saadati, R., & Vaezpour, S.M. (2008). On the stability of cubic mappings and quadratic mappings in random normed spaces. *J. Inequal. Appl.* DOI: <https://doi.org/10.1155/2008/902187>.
- [5] Bratteli, O., Kishimoto, A., & Robinson, D.W. (2008). Approximately inner derivations. *Math. Scand.*, 103, 141–160. DOI: <https://doi.org/10.7146/math.scand.a-15074>.
- [6] Bresar, M., & Vukman, J. (1990). On left derivations and related mappings. *Proc. Amer. Math. Soc.*, 110, 7–16. DOI: <https://doi.org/10.1090/s0002-9939-1990-1028284-3>.
- [7] Hyers, D.H. (1941). On the stability of the linear functional equation. *Proc. Natl. Acad. Sci. USA*, 27, 222–224.
- [8] Khodaei, H., & Rassias, T.M. (2010). Approximately generalized additive functions in several variables. *Int. J. Nonlinear Anal. Appl.*, 1, 22–41. DOI: <https://doi.org/10.22075/ijnaa.2010.66>.
- [9] Madadian, M., Ebadian, A., Eshaghi Gordji, M., & Azadi Kenary, H. (2012). Approximate homomorphisms and derivations on random Banach algebras. *J. Inequal. Appl.*, 157, 1–7. DOI: <https://doi.org/10.1186/1029-242X-2012-157>.
- [10] Miura, T., Hirasawa, G., & Takahasi, S.E. (2006). A perturbation of ring derivations on Banach algebras. *J. Math. Anal. Appl.*, 319, 522–530. DOI: <https://doi.org/10.1016/j.jmaa.2005.06.060>.
- [11] Rassias, T.M. (1978). On the stability of the linear mapping in Banach spaces. *Proc. Am. Math. Soc.*, 72, 297–300. DOI: <https://doi.org/10.2307/2042795>.
- [12] Schweizer, B., & Sklar, A. (1983). Probabilistic Metric Spaces. *Elsevier, Amsterdam*.
- [13] Semrl, P. (1994). The functional equation of multiplicative derivation is superstable on standard operator algebras. *Integr Equat Oper Th*, 18, 118–122.
- [14] Thomas, M.P. (1988). The image of a derivation is contained in the radical. *Ann. of Math*, 128, 435–460. DOI: <https://doi.org/10.2307/1971432>.
- [15] Ulam, S.M. (1964). Problems in Modern Mathematics. *Science Editions, Chapter VI, Wiley, New York*.